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1HE | o0& | 3B | A B 1BE| 2B |35 |4 | 1BE| 2% | 3% |4 B (ke10a)
2501 120 3.4 1.5 7.5 12.4 2,067
3 S 1E 25 1.7 1.5 0.5 3.7 2,960 x
3 SHBR 43 3.4 3.0 1.0 7.4 3,442 x
5802 | 251| 321| 120 441 60 | 6.0 68 | 68 |4849 %
7801 | 115| 102 30| 132 2.12 2.12 3,033 %

» 2| 100| 68 6.8 1.65 1.65 68 | 68 | 2972 %
9801 | 179| 102 6.0 | 16.2 12.72 12.72 4653 *

» 2| 137 68| 90 15.8 2,307 3L 2RI
1058m2| 238| 119 165| 105| 389 3,260 *
115 62 3.4 4.5 3.0 10.9 3,516 *
125D 3 98 5.1 4.5 1.5 11.1 1.5 1.5 2,878 x
13 501 300 20.4] 180 8.0 46.4 3,093 x

158 | 145| 17 17 235 | EXE S

16 % 87| 68 45 11.3 2,598 *

175 101 5.1 1.5 6.6 1,307
1851 328 119 10.5 6.0 28.4 1,732
2180 1| 451| 204 45| 135| 384 20.3 20.3 4129 *

245 60 3.4 3.4 1.5 1.5 2,133
ARz 410 1.7 1.7 12.95| 4.79 3.0 | 20.74 2,106
& §F | 3250 | 1664 915| 60.5| 3184| 12.95| 43.08| 10.5 | 66.53 13.6 | 13.6 | 3,179 *
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185 | 2% |38 |4 B & B4 B (kw /100) | & |[f %

125> 2 131 48.41 3,695 8,802

13502 216 8.5 6.0 8.0| 225 3.0] 15.35 3,350 2,791

14501 150 51.12 3,408 845

” 2 340 96.20 2,829 1,590
18502 | (399) 136 30| 166| 40| 1573 K i 260 1 BE# 334 halc/NG EENE

19% 93 5.1 1.5 6.6 151 2,657 2,093 | Z1EffiS 3
20801 | 215

I } 6.8 6.8 134.07 3917 2,216

» 3| 200| 102 10.2 37.81 2911 625
215m 2 328 1.5 82.75 2,706 TT7| 6,498

22 % 65 1.7 30 4.7 1.3 = 400

25% | 100 34 3.4 13.03] 1,983 2,369
& | 2100 493 6.0] 155 70.8 9.8 505,98 3,109 * 6,313|22,553
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